[ Efficiency vs vertpos |

|||||.|_|g¢.|_1'_‘|| TTTT T[T
0 T 0 0
. " . .
h
i T
. " B B
g + g T
. -

(L = TR L= 2 TEEEEL & AR —----

0.8 . .
1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_mKFit_TT_base

Efficiend _,__ oM mkFit_TT_retrain

~ 0.02r ; ; ; ; ;
e
e
ot

EHHCIRRCY S 8T

—e— DQM_mKFit_TT_retrain_noCandDNN

........

........

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05
.045
=0.04
.035
20.03
Q
.025
()
0.02
.015

>
a0
£
2
2

0

0.005

Ratio

0.0

10

Sim. PV z (cm)




	Contents
	Page 1


